Analysis of a Two-Way Table

(Chi-square Test for Independence of Two Classifications)
Calculations for our Example:

Does the incidence of heart disease depend on snoring pattern?  (Test using  = 0.05.) A random sample of 2484 British adults was taken and the results given in a contingency table:

Snoring Pattern

  Never

  Occasionally 

Almost Every Night

---------------------------------------------------------------------------------------------------

Heart

Yes
|     24        
 
35


51

|    110

Disease
No
|     1355

603


416

|  2374

---------------------------------------------------------------------------------------------------




      1379

638


467

   2484

Expected cell counts:
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Test Statistic:
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= 71.75.

For (r – 1)(c – 1) = (1)(2) = 2 degrees of freedom, 
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 (Table VII).

Since 71.75 > 5.99, we reject H0 and conclude the classifications are dependent.  The incidence of heart disease does depend on snoring pattern.
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